Calculation of beer price
a) Calculate the production costs for 0.5 liter of beer

	
	price/kg (l) in CZK
	usage for 1 hl. in kg (l) in CZK

	malt
	9
	10

	hops
	200
	0.1

	extracts
	700
	0.01


For 1 hl of beer is this usage: 1liter of yeasts, it is made by the brewery, cost for yeasts production is 20 CZK/l

The brewery uses the water from the river, we leave modification of this water out of account

b) The brewery uses public water; the price is 80 CZK/ m3. The usage for 1 liter of beer are 3 liters of water. Calculate the new price for 0.5 of beer (including previous)

c) Packaging material are 90 CZK/hl. Calculate the price for 0.5 liter (including previous)

d) Other costs (internal distribution, sanitation etc. without labour costs and energy) are 500 CZK/hl. Calculate the cist for 0.5 liter (including previous)

e) Average gross monthly wage is 29629,63 CZK, the brewery has 700 employees and total annual production is 2 mil hl. Calculate the personal costs per 0.5 liter and add it up with previous. Don’t forget to count with social and health insurance (35 %).
f) The usage of energy is 1 CZK/l.

Calculate the total price for one beer (0.5 liter), including previous.

g) The brewery uses modern methods - high pressure boiling (brewing) ant HGB method, so comparing to the point f) the usage of energy is lower about 40 %. Calculate, how much the total costs are lower (%). What is the absolute difference in case of standard methods and modern methods? The total brewery production is 2 000 000 hl of beer.

h) Let’s try small experiment. Some costs are high, because our brewery is microbrewery. The prices of raw material (including yeasts) are higher about 20 %, the usage of water is higher by three times, the usage of energy is double and the personal costs for 1 liter of beer are 7 CZK. The others costs are the same.

Calculate the price for 0.5 liter.

